Division par 10° (I)

1,543 + 10% =

8,67 + 10° =

9,5617 + 103 =

4,283 + 103 =

6,61 =+ 10° =

2,37 - 103 =

9,323 +10° =

2,7 +10° =

9,1+ 10°=

6,184 = 103 =

Trouvez chaque quotient.

8,1031 + 10° =

7 +103 =

7,564 =+ 103 =

4,41 +10° =

4,054 + 103 =

5,93 + 10°

7,58 ~ 103

553+ 103

8,08 +~ 10° =

8,29 + 103 =
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Division par 10° (I) Solutions

Trouvez chaque quotient.

1,543 + 10° =0,001543 8,1031 =+ 10°* = 0,0081031
8,67 + 10° = 0,00867 7 +10°= 0,007

9,5617 =+ 10% = 0,0095617 7,564 + 10% = 0,007564
4,283 + 10° = 0,004283 4,41 + 10° = 0,00441

6,61 + 10° = 0,00661 4,054 + 103 = 0,004054
2,37 +10°=0,00237 5,93 + 10° =0,00593
9,323 + 10° = 0,009323 7,58 + 10° =0,00758

2,7 +10%=0,0027 5,53 +10°=0,00553

9,1 +10°=0,0091 8,08 + 10° = 0,00808
6,184 + 10° = 0,006184 8,29 + 10° = 0,00829
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